SA: BieEeHD
MM oI U HUYSHNM(BARS/HY)
CH9l: CIOHMEIM BX % siYsAES (o9 ®
1) - MiRAY - Bds | oo  olme | umER
10,172,309 9,942,119 230, 190
= 2,830,890 2,603,400 207,490
2 4,006,400 4,006,400 0
Il 920,000 920,000 0
[ 2,415,019 2,412,319 2.700
ClOtRR) U BHUBAMNM(BAES/HY) 5,523,990 5,346,500 177,490
= 177,490 0 177,490
% 3,932,000 3,932,000 0
Il 920,000 920,000 0
< 494,500 494,500 0
CIOHMEIH X L HABAES 1,129,490 952,000 177,490
= 177,490 0 177.490
bl 920,000 920,000 0
_ = 32,000 32,000 0
MY maH =2 177,490 0 177,490
== 177,490 0 177,490
403 RXISGHER=0IH 177,490 0 177.490
= 177,490 0 177,490
01 RIXIGHHES X 177,490 0 177,490
OAMYI| IsH=2 177,490 0 177,490
2 177,490 0 177,490
NS AHH| (SHLEBEDE) (DIEHDIEH) 101,179 98,479 2,700
2 74,400 74,400 0
[ 26,779 24,079 2,700
Jl=Al 101,179 98,479 2.700
o 74,400 74,400 0
= 26,779 24,079 2,700
BA2Y =2 26,779 24,079 2,700
405 XH&HE SH| 2,700 0 2,700
01 BAYESEFH S| 2,700 0 2,700
O-ES 10, JtHat 2cH 2,700 0 2,700
BH Qb= AME A D D (G LB OH D) (S 2Bl & 176,000 126,000 50,000
& OfE)
2 50,000 0 50,000
[~ 126,000 126,000 0
OIECIR Saior BN 176,000 126,000 50,000
= 50,000 0 50,000
= 126,000 126,000 0
OIALE & 412k 100,000 50,000 50,000
= 50,000 0 50,000
[~ 50,000 50,000 0
403 MHXISHHE X =0/ H 100,000 50,000 50,000
2 50,000 0 50,000
[ 50,000 50,000 0
01 IIXISHRIX=E X 100,000 50,000 50,000
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T 100,000 50,000 50,000

50,000 0 50,000
50,000 50,000 0
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